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Distance - Speed - Time Solution by Nomogram: Draw line through the points of two known quantities on their proper scales & read solution at the intersection of the line with the third scale
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NOMOGRAM

nm m hr min
v 300 5 —= 00
L —E 30
— 400 4-g 00
= 40
“noq E
— 500 = 20
i 3 —= 00
oo 600 = 40
— 700 E
— 800 »—F oo
% 900 — 50
— 1000 — 40
5, 1200 I 30
% + 1400 — 20
= 1600 kn = 10
118000 g 1—£- 00
= 50
i — 40
— 30
3 - ¥
i — 10 — 20
4 5 i
5 = 20 N
6 - g— 30 L
7 = 40 I
g — 50 10
9 = 60 -9
10 i
1 -7
] - 6
] ~ 5
20—: L4
30 3 -3
40 =
= - 2
50 3
60 =
70 -
80 —
90 —
100 — 0L 1
Distance = Speed x Time



